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ﬁid’wﬁ&gm g - col ) Mz

(Given, Img;,,z o mm |
(a) 2s (b) *ﬂmw
(© 05s () 10s . a7

7. 1 the force is given by F = ar + bt witht i) 10
as time, The dimensions of @ mﬂb@r@* “ioe ot

ia;l m:r*‘;,mmr’: 13. Alarge open tank ha s ia e
E‘dff imﬂﬁn‘% [Mﬁ!ﬂ pletely fille:

or water flowim;
32 ﬁlﬁ}ﬁéﬂi@‘ i 1gmdeﬁt.ﬂ.a m ? 6Wo holes o= =
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15, The maximum current that can  be

1.

1aF

18

2

.

measured by a galvanometer of resistance
400 is 10 mA. It is converted into a
voltmeter that can read upto 50 V. The
resistance to be connected in series with
the galvanometer (in ohms) is

(@) 2010 (b) 4050
(c) 5040 (d) 4960
For a given velocity, a projectile has the

same range R for two anglesof projection if
ty and t, are the time of flight in the two
cases, then

(ﬁ) [1f 2 = R Cb) fl-"‘2 =< R %
_ 1 N 1
(&) Eqta =< é_-" (d) £t < =

A sample of ideal monoatomic gas is taken
round the eycle ABCA as shown in the
figure. The work dene during the cycle is

1 8 (4p, 3V)

g

(a) 3 pv
{c) 9 pV

A sound source is moving (owards
stationary listener with ;ath ol the speed of

sound. The ratio of apparent to real
frequency is

03]

A szrellite is in a circular orbit round the

0 e LTy
G RS [!..o]

earth ar an altitude R above the gamh’s

wirfage, where R is the radius of the earth.
{ﬂt 16 the acceleration due to gravity on the
surface of the earth, rhe speed of the

21,

4.

25.

26,

et LB L 20 1 -

'«)U’I"JW'I‘“PC:I (AU ' ,“

A 10 kg stone is suspended with a rope of
b{reak:ing strength 30 kg-wt. The minimum
time in which the stone can be raised
l"hriou.'gh aheight 10 mstarting from rese is
(Taking g = 10 Nkg '}

{a) 0,55 (b) 1.0s
: }2

() J='s 2.0 5
13 § (dy 2.0a

+ How much work must be dane by a force

on 50 kg body in order ¢ accelzrare it from
rest.to 20 m/s in 10 s¥

(a) 10% 4 - (b) 10%J
() 2x10%J (d) 4x10% 2
A and B ‘are wo metals with

threshold frequencies 1.8 » 10" Hz and
2.2x10" Hz Two identical photons of
energy 0.825 eV each are incident on them,
Then photoelectrons are emitred by
(Taking h = 6.6 x 107" Js5)
(a) Balone
(h) A alone
lc) Neither A nor B
() Both A and B
['fie square of resultant of two equal forces
is three times their product. Angle between
tlie forces is

Tt n X
(a) (b) 5 (c) 2 (d) 3
An object placed on a ground is in stahle
equilibrium. If the objects 5 given a slight
push, then initially the position of centre of
gravity
(a) moves nearer Lo ground
(b) rises higher above the ground
(¢) remains as such
(d) may remain at same level
The masimum helght ouained by a
projecrile whena thrown ar an angle 8 with
the horizontal s fbund o be half the
horizontl range. Then, 6 Is equal o

(n) tan '(2) (b) g

ey = () an! [ﬁ
4 \2
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27.

31.

A shell of mass 20 kg at rese explodes ntd
tWo fragments whose! masses are in the
ratio 2 : 3. The smaller fragment muves
with a velocity of 6 ms '. The kinetie
energy of the larger fragment is
(a) 96J (b)) 2163
(c) 144 J (d) 360J

» If the displacement of simple pendulum &t

any time is 0.02 m and acceleration i5
2 m/s*, then in this time angular velocity
will be

(a) 100 rad/s (B) 10 rad/s

(¢) 1rad/s (d) 0.1 rad/s

Which is constant, the earth revolving
around the sun?

(a) Angular momentum

(b) Linear momentum

(c) Retational kinetic energy

(d) Kinetic energy

In non-elastic collision,

(a) momentum is conseryed

(b) energy is conserved

(¢) momentum and energy.are cungeryud

(d)momenturn  and  ensigy  are
non-conserved

A mica slit of thickness t and reloicuyve

index p is introduced in the ray lrom the

first source S;. By how much distance of

fringes pattern will be displaced?

@ La-nt O Zg=1x
D d
d
fc) ————— &y
c) FTEYY; (<,
The refracrive index of water Is 4/3 and
that of glass is 5/3. Whal will be the critical
angle for the ray of lighl entering water
fram the glass?

(a) sin ’(:J

- Y 1
{c) sin (2'-J|

aplhy are
e produced rays 0 ponograp

2‘; l;:l:t‘ﬂum'm 2 () infrared waves
(. :’I sound waves (d) ultrd sound

D :
(=1
o )

(by #in ' (3]

(d) sin ‘[‘:]

KL}

« The pawer disn pared

e of seeatdary of primg,, |
me;mmdanﬂeris .
FRAREpHRIEA [0 Be primary, th.
current in wocomdary will be
c:) 1 A [d] .5 i
The minlmum force raquire:d
mdw"p;miﬂc]fnlﬁd pPiane i thre
minimun ferce requi red o preys
Widing down the plane. I the oo,
[riction between the body and the

plane s . %. the 5’3“3‘(‘ of the

plane i3 _
(a) 60° (b) 45
fc) 20" (d) 15

Ik, an’d‘kp respeatively are effecive o

gonstant i sepfes and parallel combina:
A
af springs ps showm in figure, find :f

—— e —— |
¢ 3 3 w2 ay
(a) 3 (b) E (c) 2 (dl

NCTORS rosianl

which 'hg|-mnﬂ(.‘[l'd gorong a hal
porenttal ¥ s P resistioce 00

then the pewer become
(al' Dn 'nh J
fe) 14 ) 2

38, A body moves with unilorm oo

thien wiich ol the followiog o
coren ¥

4 “

Wf ()
-—-—_! S (
‘I " .

L3S (|
*"—""":N |
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29, The rare at which a black body emits
radiationat a temperacure T8 proportional

to
() = (b) T
| =
(@ T @ 1°
40. Two equal charges g are Kept fixed ataand
et along the x-a¥is. A particle of mass

Chemistry

41. The ionic eqndugtanee-of.'ﬂag* and €] are
respectively 127 and 76 Q7" em?® at

infinite  dilugon.  The  equivalent
conductance (in Q@ em?) of BaCl, at
infinite dilution will be

(a) 330 (b) 203

(¢) 139.5 (d) 51

42, if the elevation in boiling point of a

solution of 10.g of solute (mol. wt. = 100}
in 100/g of water is AT, the ebullinscopic
constant of water is

o AT e
Cihe (b) AT,

43. Given thag;

H.O(l)—> H" (ag) + OH™ (ag);

AH = 57.32kJ
AH =—286.02kJ

Then calculate the enthalpy of formation
BEOH™ ar 25°C.

(&) - 228.8KI (b) - 343.52 kT
fc) + 228.8 kJ (d) 1 343.52kJ

M, Calewlate the amount of heat evolyved when

BO0 am of 0.1 MHC iz mixed with 200cm®
of 0.2 M NaOH.

(r) 57.3 kJ (b) 2.865 kJ

- (£)2.292 W (d) 0.573 kJ

5 Which of the following will be the most

!'.ﬁ tive in the soagulanon of Fe(OH) sol?

46.

i,

BITSAT « Solved Paper 2012 I 3

m-angd chiarge ? is brooght te the onem and
given a small displacemenr along the
x-axis, then

(a} the particle execures osciilatory monon

(b)ithe particle remains sationary

{c) the particle executes, SHM along x-axis

(d}) the particle execures SHM along y-axis

(¢) Nadl (d) RCN
Identify ‘C' in the following reaction;
NOz

NaNHs
B ==

= | S/l NabO;_
(b) benzoic-acid
(d) aniline

(a) benzamide
() chlorobenzene

The following reaction is known as
ONa OH
[+ €0

(a) Friedel-Craft reaction

(b) Kolbe reaction

(c) Reimer-Tiemann reyetion
(d) Wittig reaetion

48. Which of the following is soelectonie of

carbon?

@) Na* (YA (0% (d) N©

49: In which of the follewing species only one

type of ybridisarion is present?
(8) GH ,~CH ,—CH=CH,

(b) Ot y —CH=CH—CH,

(0) GH y==ClH—CH=CF,

() GH , —CH==CH—CH ,

Www.examrace.com




0. 2Mnoj + 51,0, + 6H' —
22 + 50, + BHO
Idenufy Z in the above reacrion
(a) Mn?* (b) Mn "
(c) Mn (d) MnO,

51.

In the titration of NaOH and HCI, which of

the following indicator will be used?

(2) Methyl orange

(b) Methyl red

() Both (a) and (b)

(d) None of (a) and (b)

Which of the following is correct IUPAC

name for Kz[CJ'(CN)zO (0)2 3] ?

(a) Potassium amminecyanoperoxodioxo-
chromatic (IV)

(b) Potassium amminecyanoperoxodioxo-
chromium (V)

(¢) Potassium amminecyanoperoxodioxo-
chremium (VI)

(d) Potassium  amminedicyanodioxoper
-oxochromate (VI)

Which of the following is process used for

the preperation of acetone?

(a) Waber process

(b) Wacker pracess

(¢) Wolf-Kishner reduction

(d) Gattermann-Koch synthesis

Lindane can be obtained by the reaction of
benzene with _

(a) CH,Cl/anhydrous AlCl,

(b) C,Hsl/anhydrous AlC, r

(c) CH,COCl/anhydrous AlCI,

(d) Cl, in sunlight
The structure of cis-bis (propenyl) ethene is

_ H
(a) fzé// (/™ A2

R R E—
() \H (d) N
& moles of Ba(OH), are treared with excess
of CO 5. How much BaCO; will be formed?
(a)39.4 8 {b) 197 g
' (ch) 985 2

(¢) 5918

II_ e -. S s AV al
= ]mbbﬁd‘d-lﬂm”‘:c 1970
:" .._‘ .mmnﬂlc Lh:ll'p

(bJ 50‘34‘. r_'|[ b
Yo (d) 75% 0t
heared theough 1°C | .

(b) + 23
(d) 523°C

59, Foribmrtgisﬁ 2ZNO(g) + Br
at‘egm'_hhnum. Par, = -‘2 and p i< 1

e
pressure, the ratio ?" will be

mf mi m%u%

temperature
nmtfuum for

nﬂgﬁﬁa (b) CaCo 4
(ﬁ) ma (d) SrCO;

Some amount of zinc is e
Wr With excess of sulphuric
ﬂﬂﬂ |ERLESS Ol sadium hydroxide solo
gof valumes of hydrogen pvol:

'0}] ey Z2:1 )2

ound (A) when rreated o

D ammonia gave (61
h bromine and o
.Lt;-' (C), (E) on trean
NQy; and H(ﬂ q‘t 0'C and rhet

81,
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64. What will be the muin product when
acerylene reacts with hypochlorous acid?
(a) Trichloro acetaldehyde
(b} Acetaldehye _
() I?Ji'c‘hlam-.a-ceta.ld‘ehyde
(d) Chloro acetsldehyde
5. Bavium ttanate has the periovskite
structure, i. e, a cubic lattice with Ba“™" jons
1t the corners of the unit cell, oxide ions at
the face centres and titanium fons at the
hndy centre. The molecular formula of
barium titanateis. :
(@) BaTiO, (b) BaTiO,
(¢) BaTiO4 (d) BaTiO
66. Which of the following hormone, is
responsibie for the growth of animals?
{a) Auxin (b) Insulin
(¢) Adrenaling (d) Somatotrapin
67. Which of the following have the larpest
ionic size?
(8) F (B)O* () Na' (d) Mg
68. If the radiug of His0.53 A then whal will e
the radivs of 4Li*" 2
(#) 017 A (b) 0.36/ A
(¢) 0.53 A (d) 0.59 A
B9 Whieh of the following will have highest
value of pK ?
13) FCHLCH . COOH
(B) €H CH F COnH
(&) CHCH - B COOH
() €H CH ,LO0H
5 15

M, Gy (AL e NAQ —+ B~ G — 12
C and O decolourises acidified Kmno |,
Identify ¢ and D, :
() Na 20 Naal
) (COOH,, (COGNA),

LT IEO0NAT,, (COOH),

L Neonw of the above

i m’ ner polyurethanes we (oomed by

- g Al dsocyanate with
| ) moprens

A neryloniinle

BITSAT « snlyed Faper 20112 l 1

72. What will be the volume oF O, ar NTF
liberated by 5 A curreny flowing far 195 &
through acidulared warer ?

(a) 56 mL (by) 112 ml
(¢) 158 mlL (d) 555 ml

13. CO; goes 1o air, causes green house effest
and gets dissolved in water, Whar will be
the effect on soil fertility and pH of the

water?
(a) Increase (b) Decrease
(¢) Remain same (d) Nane of these

4. 2N,0g = 4NO, + O,

It rate and rate constant for above reaction

are 2,40 % 10 mol 1! 57 and

3x 107 s | respecrively, then caleulare
the concentration of N0 ..

(2) 1.4 (hy 1.2 (c) 0.04 (d) Q.8

5. The molecule BE, and NF, both are
covalent compounds, but BE, s non-polar
anel NI 15 polar. The reasaon is that

(a) baron is a matal and nitrogen s a gas in
neombined scate,

(I BE, bBonds have no dipole moment
whereas NFE, band haye dipole
mCHTIEnt.

(€) utammic size of horon is stomller tha that
ol froLen,

() BE, ® symmericnl melecule whereas
NE; Is unsymmetrical

76. 1.2% NuaCl solution is isolonie with 7-29%
slucose solunon. Whar will Be the vant

HoIf lactor, ()
() L5 NOR
() 2 ) 6

1. Grean viteio! s
() ferrony sulphare
(s Tl oxide
1) 2ine oxide
() Tt vous corlicnare

18, Lhvomopentane with aleohalfe KOH viglds
i mixiure of veen alkenes. Which of the
followetngg nlkens i mﬂmm
() 1-pantene :

— S a— e -
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(b). Cis-2-pentene
(c) Trans- -2-pentene
(d) Cis-1-pentene

78. In which of the following compounds, the
bond length between hybridised carbon
atom and other carbon atom is minimum ?
(a) Butane
(b) Propyne
(¢) Propene
(d) Butene

BO0. Which of the following is TUPAC name of
compound?

English Proficiency

Directions (Q.Nos, 81 to 83) OQut of the four
alternatives, choose the one which expresses: the
right meaning of the given word.
81. Dubious
(a) Doubtful (b) Disputable
(¢) Duplicate (d) Dangerous
82. Flabbergasted
(a) Scared
(b) Embarrassed
(¢) Dumbfounded
(d) Humiliated
£3. Fternal
(a) Innumerable
(b) Unmeasurable
(c) Prolonged
(d) Perpetual

Directions (Q.Nos. 84 to 86) Choose the word
opposite in meaning to the given word.

B4. Despair
(a) Belief (b) Tyust
(c) Hope (d) Faith
B5. In totn .
() Bluntly (b) Parnally
(¢} Entively (d) Strongly
B86. Prolean P A
b)E lic
() Amareur (b) Catho
> (d) Rapid

(¢) Unchanging

(8

.WE ir-_i CO!’Jl
/&,/ o

(a) 1. MCMGW‘P- 6-chru:

~mic acid
l‘h)MWI A-dighlorohexarn: ;

pevlic acid
(e} 14-&3 \iore-2, 4, 6-dioxoey,

ylic acid
() 1, *?-dfahlemdi-fenml o &
eyclohexane -1-carboxylic acid

Directions (Q.Nos. 87 to 89) A parr .-
senfence ts underlined. Below ar:

alternatives to the underiined part at a. b o
which! may improve the sentence. Chooe |
gopeet altsrranve [N £@se no mmprovemsn
needed. your apswer is ‘d’
87, Hedeclined all the allegations against hr
(a)spured (b) refused

L) refuted () No improvemen

#8. It is eime we leave.
(a)lefr () have o leave
(¢) would leave L) Noy impeovenc
B3, We spent an hour discussing abow
(a)an his characrer
(b) of his character
(¢) his charucter
(d) No impravement

m” fdﬂﬁlf 00 o 82) Senie® "

given. with blanks ta be filled in W
uppropriate and suirable word. Four alte™’

e foi. Choase di¢ gorr
e |
o ?"b‘ desirous ..o st

anm?/
_ (b) in
Mhy (d) abour

Www.examrace.com
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81, When Indians from the South move North,

they find certain 3spects of life quite ......

from their oW

(a) serange (b) separate

(c) different (d) divergent
92, The sky is OVErSaST, We «ysxs- the storm will
~ soon burst.

(a)expect (b) h'ep.e.

(€) trust (d) suspect

Directions (Q. Nos, 93 t0.95) The first and
the lost parts of the sentence are numbered 1 to 6.
The rest of the sentence is spelt mtofﬁ}w- parts and_
named P, @, R and S. These four parts are not
given in their proper order. Reﬂd the parts and find
out which of the four combinaiions is correcL. Then
find the correct answer.
93 1. Early tobed, early to rise, makesa man
healthy, wealthy and wise.
P. But for the moming tea, [ had to wait
for someone to get up before me,
@. Thissaying inspired me to rise early.
R. That day1 was the first to ger up.
8. DOne day | got up early in the morning,
6. Then | realised that it was a waste of
tme to get up, early and wait for the
MOIing tea.

Logical Reasoning

%. In o certain code MONKEY is XDJMNL.
How i5 "TIGER” writren as?
(a) GDFHS (b) SDFHS
(c) SHFDG (d) UJHYS

9, Find the missing number from the given

responsEy,
1{ {7 2 r}a 13 18
22y =zh ?(
(8) 31 {1y} 229
e} 234 (d) 312

94,

95.

BITSAT « Soived Paper 2012 | 9

(a) OSRP (h) QPRS
{e) PORS () SPOR

L. A wood-cutier was curting o ree on a

river bank

He knelt down and prayed

His axe slipped and fell into the water

Gad Merctiry appeared bafore lim and

asked about the marter.

S. He could not ger it back as the river was
very deep:

POF

6. He dived into the water and came up

with an axe of good.
(a) REQS (b) RPSO)
(¢) QSRP (d) QSER
1. Adogsrole a piece of meat from a
butcher's shop.
He barked in anger.
He ran to the jungle with the piece of
meat.
He saw his reflection.
He crossed a river on rheway.
. He lost his piece of meat.
(a) OPSR ‘
I ISRP
(¢] IPRS
i) 5RPO

O

[ LR B v

If the day before yesterday wis Thursday
when will Sunday be?

() tomorrow

(b) day after tomorrow

(c) today

(d) two days after today

In a row of children Ravi & fowth from
rightt and Shyem 5 second from laft, When
they Incerchunge positons Ravi 15 ninth
from right. What will be Shyam positian
tram lef?
(&) ith
(c) Seventh

(b Sixth
(d) Eighth

Www.examrace.com
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per iy rong i the given s«

' - 103, Which niambe
}\ i %L 1.9, 25, S0, 81 5 A

= : o ffjl]ﬂ"nng queﬁ{iﬂﬂ atﬂd 7a) SEand., ! i
Anﬂ:ﬂ ﬁgute ¥ i -:;y[h;f the Mathematical signs at diffe.
$ ol |o 0@ 0 ﬁlﬁcés-. which are givenas cholees under ¢,
) q "-H’Bn- Seim [he {‘M{:E Vn't.h ‘hl"—_‘ e
. sequence of signs which when sul;rs:jr._|=_.
(@) (b_) (c) () makes the queaﬁm'l as fonect edquaiion”?

101. Which represents carrot, food, vegetable? 24A%L 5 5_4
_ ' (@) X += Ll g

' ~ - = d]-=+x
_ &) (c) + X (
% ‘ ' 105. Which asnswer figure is the exacr mir
(b)

(a)

o

v

9.9
g

o ] a e

(c) (d) image of the given figure when the mirr;
held from the rght at PQ ?
102. ¥All the members of the Tennis club are P
members. of the badminton club too”. No
woman plays badminton? E '
(a) Some women play Tennis;
(b) No member of the Tennis club plays Q

badminton Answer Figures
(c) Some women are members of the ' =7 1

Tennis club E E [El E
(d) No woman is a member of Tennis club ol

(a) () () (d)

Mathematics :
106. The equation of the base BC of an 108, The lengthvof the tangent from (S, 1) to the
equilateral AABC is x+y =2 and A is girele x% + y* + 6x— 4y — 3= 0is
(2, -1). The length of the side of the (a) 7
triangle is 1/2 (b) 49
o S (c) 63
{a 'JE- 2 [-) e
{a) i (d) 21
(c) ( 1JI/2 (@) ( 2')1(-?' 109. If the length of the major agis of the ellipse
1y 3 2Y [v*®)
2 g (ﬁz_] + [_y_}] =1 is three times the length
107. The equarion of the circle circumseribing @ b
the triangle formed by the lines x +y = 6, of minor axis, its eccentricity is
2r+ y=4dandx+ 2y =518 | o
(a)x® + 92 +17%+19y - 50=0 (&) 2 bl
(byx* + y* —17x 19y -50=0 _ JE. 2
(cla +y” +17x =19y - 50=0 m-_é Lm_.?T

(s + ¥y ~17x =19y +50=0

Www.examrace.com



10, S and T are the foci of the ellipse

[Iz. + [Zj =1 and B is an end of the
a

‘minor axis. If STBis an equilateral triangle,
then -eﬁcemr?i’éity of the -'el-lipse is .

(a) z ﬂ'ﬂg () 2 (d) >

§41. The difference of the focal distance of any
point on the hyperbola is equal to its
(a) larusrecrum
(b)eccentricity .
(c) length of the transverse axis |
(d)half the length of the ransverse axis
112. If A + B+ € = 180°, then

cotd + “‘-’t'}-B s c?“tc‘ is equal to
cotAcotBeotC

(a)1 (b) cot A cosBeotC

(e)-1_ (o

113. The angles of a triangle are in AP and the
least angle is 30° The greatest angle in
radrans '7 5 is o :

A S L OR il
a) — (b)) — Fad s 1
(a) 12 (b) 3 (c) 6 (d 5

18, 1f tan 20° = p, then 2o 100" — tanlll |
1+ ran160° tan 1 11¥

ey |
(a) ] b) Sl
{ 2p ] mu[l +p* ]
el 12 p) (= p
m( 2p ] e (?EJ
s Tf-"#fn M x b cos™! % =, then s equal to

'(ﬁ); (b) 2

{1 y 1

| 3

X

‘ B MBC u=2hb=3 and sind =

PR 57

- 1 "
Sonwved Paper 2012 | 11
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117. The vecror equntion
r=i-2j -k+rib) -k
représents a straighs line passing throush
the points
(a) (0, 6, — 1) and (1, =2~ 1}
(b)(Q, 6, ~1)and (=1, — < = 2}
()@, =2 —1)and (1,4, - 2)
(d)(1—=2 —1)and (0, = & 1)

118. The work done'by the foree 4i — 2j « 2k in
nioving a particle alopg a straight line from
the point(2 2 — Do (Z -1, 4)Is
(a) O umirs (b) 4 units

_(e) 15 units. (d) 1% units

2+ X)si Fx)—2sin2) .
119, lim[{" HI D S = ]-m equal
x—A{l X .
to
[a)sin 2 (b) cos2
(€)1 ‘/kd—'rﬂccs_?. + 5in 2

o J
3x + tan” x

120, It f(x)= is tontinuous at

X
x = ) then f{0Yis equal 1o
) 5 (b 2 (&) <

(d) 0
4
121, 11 x s measured indegzree, then it casx)is
edqual o

_,tyf: sinx (hl - @.sin X
It

‘;ﬂ)'ﬁ—'iga 8in x (Y sinx

122. [%] []B'ig- (secx — tom )] s wqual 1o

— SeC X
(c)secy

(L) sov + tan

(d) pee x — it «

123, I x=cos"Dand y = sin™ 8 then | + (ﬁ ]
it
Is eepual 1o

[a) a9

Lerfect
LIy
124, u:=m’.y=w.:-hen%3 is equul to

l i 1
(a) - = —— ) = / ,.__‘_‘
;5 - e ? < Py A T

Www.examrace.com |
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n2s. Hm&mﬁ@ﬂfﬂhﬂngemﬂaeﬁ' e C '
aarcle ot 0.3 cmu's, then the rate ufﬂaﬁ’ﬂfﬁ 1
gﬂh& aren of the circle when the radius 23 5
an, Is
(@) 1.5 5q em s
(D)0.5 sq em/'s
L6) 5 sq cou's ' :
{013 sq cmu's |

126. 1f v = X% — @x® + 48x + 7 is an increasing
it?mon for all real values of x, then a he&

(a}(=14, 14) (B) (-12, 12)

81 (=16 16) d) (-21, 21)
127. Relle’s theorem is not applicable for the
unction f(x) = || in the interval [1, 1
became
(a) 7 (1) does not exist
) (1) does not exist
{e) fx) is discontinuous at x = 0
(d) £ (0) does not exist

.2‘dx
———— Lo
4 I{a‘ +e™)? itanal

e i +C (b) X

o ,.ikl'e:ij“ -C (B T i)
L N e
"+ 131 (e* —e)?

(3]

2 “6 .
129, equal
' J; su]"'ﬁi- cos" 8 s »
(a)1 (b) O "3l
(E)E 'fﬂni 130 7. re | -. . ',:; : h - ! :_-[J.“.-f.‘-
m | L.. : m‘mlxm e u-aj (ur y ':' APt 'I:f'-‘.- | .'_" . Tho
K q = | _',,";" 3 ‘, ve: (), the -'._ a‘*_!_d ‘5 Equ.“ W

e l‘
—' r"' IL (ﬁ]U

-._. nd diagr®”
umbers 1
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{38. The sum of n terms of the series
O e

2SS LIS
238 16

@n-1+2" (b) 1
(cyn—1 (d)1+2"

0.2 +0.22 + 0,222 + ... ton terms is equal

o 5

(2[4 -10")
(a)(g) [.81](

b)n — G_)] (1-10™")

© [—g)[n 2 [%) (1-107" J}

off

The number of ways in which a team of
11 players can be selected from 22 players
including 2 of them and excluding 4 of

139.

140.

them is
(a)**C; (b) ¥C.
(©"°Cy (d) ¥¢y
141. The number of ways four boys can be

seated around a round table in four chairs
of different colours is
(2)24 (b) 12
(c)23 (d) 64

142. If the coefficient of second, third and fourth
terms in the expansion of (1 + x)" are in

AP, then n is equal to
fa) 7 (b)4 5 (d)6
143, |f
1 a g*
A=1 b b? | =Ra-b)(b-c)(c—a)
!1 c ¢*
then kils equal o
(a)-2 (b1
ey (df) b
_deb g b
WMl o ase ¢ |isequalio
b [ bee

145.

146.

147.

148.

149,

150.
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{a) 4abc (b) abe

() a*bic? (d) 4a“be
x a b S

IfA, =|b x a|and A, = Ak are the
a b x e

given determinants, then
(a)A; = 3(A,)"

d _
(b)['d?] (Ag) =38,

d 2
{c) [a:] (A7) = 3(A5)"

(DA, = 3(a,)?

The system
X+4y —2=3,3x+y+52=7
and 2x + 3y + z = 5has
(a) infinite number of solutions
(b) unique solution
(¢) trivial solution
(d)no:solution

It the three points (k, 2k), (2k; 3k), (3, 1)
are collinear, then k is equal to

(-2 (b)1

1 1

(€)= d)-—

¥ =3
The foot of the perpendicular from the
point (3; 4) on the line 3x — 4y + 5= 01is
(81 92 92 81
@) =—, — b)| =—, —

( )(25 25] GJJ{ 255 35

a2 28 a8 72
.(c)[%, 24] ()| ]

A kite is flying at an inclination of 60 with

the horizontal. If the length of the thisad is
120 m, then the height of the kite =

(a) 60v3 m (b) 60/ m
©%®m (e 120 m
V3

If the focus of parabala is wt (O = 3)and its

direcuriy 1 y = 3 then its equarion is

(a)x* = - 12y () x* = 12y
(ery® =~12y (d)y" =12%
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